
 

Find the place of the underlined 
digit: 
 
1. 283,093 
2. 923,092 
 

 

Multiplication Comparisons: 
An electric saw cost twenty-one 
dollars, which is three times as much 
as a manual saw costs. How much 
does the manual saw cost? 

Round the number to the nearest 
underlined digit: 
 
1. 839,092 
2. 289,934 
 

Multiply: 
(Use any method you want) 
1.     44 
   X 20 
 
 
2.    84 
   X 29 
 
 
Addition: 
1.  845,093 
 + 283,109 
 
Subtraction: 
1.  834,109 
 -402,289 
 
 
Multi-Step Word Problem: 
Ned and Haley were comparing their 
Halloween candy. Ned received 2 
times as much candy as Haley 
received. Ned then split his candy 
evenly into 6 piles to eat later. If 
Nancy received 90 ounces of candy, 
how many ounces of candy would be 
in each of Ned's piles? 

Divide: 
(Use any method you want) 

1. 1,903/7 
 
 

2. 9,034/6 
 
 
** Ask your parent to choose 2 
numbers (2-20) and list the first 6 
multiples of them 
 
**Ask your parent to choose 2 
numbers and list all of the factors 
for them. 
 
 



  
A restaurant added a new outdoor 
section that was 9 feet wide and 5 
feet long. What is the perimeter of 
their new outdoor section? 
Area:_____ 
 
Perimeter:_____ 
 
Rachel bought some wrapping paper 
for Christmas that was 10 feet long 
and 6 feet wide. What is the area of 
the wrapping paper she bought? 
Area:_____ 
 
Perimeter:_____ 
 
Equivalent Fractions: 
 

1.) 3/4 = ?/28 
2.) 8/16 = ?/32 

 


